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Name: __________________________________



1
In the diagram of parallelogram FRED shown below, [image: image1.png]ED



 is extended to A, and [image: image2.png]AF



 is drawn such that [image: image3.png]


.

[image: image4.png]



If [image: image5.png]24°



, what is [image: image6.png]ms ARD



?

	1)
	124°

	2)
	112°

	3)
	68°

	4)
	56°



2
In the diagram below, ABCD is a parallelogram, [image: image7.png]AB



 is extended through B to E, and [image: image8.png]CE



 is drawn.

[image: image9.png]



If [image: image10.png]


 and [image: image11.png]1120



, what is [image: image12.png]


?

	1)
	44°

	2)
	56°

	3)
	68°

	4)
	112°



3
In parallelogram PQRS, [image: image13.png]oP



 is extended to point T and [image: image14.png]5T



 is drawn.

[image: image15.png]



If [image: image16.png]5T = 5P



 and [image: image17.png]30°



, what is [image: image18.png]ms PST



?

	1)
	130°

	2)
	80°

	3)
	65°

	4)
	50°



4
In the diagram below of parallelogram ROCK, [image: image19.png]


 is 70° and [image: image20.png]ms ROS



 is 65°.

[image: image21.png]



What is [image: image22.png]s ESO



?

	1)
	45º

	2)
	110º

	3)
	115º

	4)
	135º



5
In parallelogram ABCD shown below, [image: image23.png]EB



 bisects [image: image24.png]ZABC



.

[image: image25.png]



If [image: image26.png]


, then [image: image27.png]m/ BRED



 is

	1)
	40°

	2)
	70°

	3)
	110°

	4)
	140°



6
In parallelogram QRST shown below, diagonal [image: image28.png]TR



 is drawn, U and V are points on [image: image29.png]TS



 and [image: image30.png]OR



, respectively, and [image: image31.png]


 intersects [image: image32.png]TR



 at W.

[image: image33.png]



If [image: image34.png]


, [image: image35.png]M SR

83°



, and [image: image36.png]ms TWU = 359



, what is [image: image37.png]ms WV



?

	1)
	37º

	2)
	60º

	3)
	72º

	4)
	83º



7
In the diagram below of parallelogram ABCD, [image: image38.png]AFGE



, [image: image39.png]CF



 bisects [image: image40.png]£ DCE



, [image: image41.png]DG



 bisects [image: image42.png]ZADC



, and [image: image43.png]CF



 and [image: image44.png]DG



 intersect at E.

[image: image45.png]



If [image: image46.png]


, then the measure of [image: image47.png]L EFA



 is

	1)
	142.5°

	2)
	127.5°

	3)
	52.5°

	4)
	37.5°



8
In the diagram below of parallelogram ABCD, diagonal [image: image48.png]BED



 and [image: image49.png]s



 are drawn, [image: image50.png]EF 1 DRC



, [image: image51.png]ms DA = 111°



, and [image: image52.png]ms DB = 399



.

[image: image53.png]



What is [image: image54.png]ms DEF



?

	1)
	30º

	2)
	51º

	3)
	60º

	4)
	120º



9
In the diagram below, point E is located inside square ABCD such that [image: image55.png]MNABRE



 is equilateral, and [image: image56.png]CE



 is drawn.

[image: image57.png]



What is [image: image58.png]m/ BRC



?

	1)
	30°

	2)
	60º

	3)
	75º

	4)
	90º



10
Quadrilateral EBCF and [image: image59.png]AD



 are drawn below, such that ABCD is a parallelogram, [image: image60.png]


, and [image: image61.png]EFIFH



. 

[image: image62.png]



If [image: image63.png]


 and [image: image64.png]


, what is [image: image65.png]ms FHE



?

	1)
	79º

	2)
	76º

	3)
	73º

	4)
	62º



11
The diagram below shows parallelogram LMNO with diagonal [image: image66.png]


, [image: image67.png]mo M = 118°



, and [image: image68.png]msINO = 22°



.

[image: image69.png]



Explain why [image: image70.png]s NLO



 is 40 degrees.

12
In parallelogram ABCD shown below, [image: image71.png]ms DA = 98°



 and [image: image72.png]msACD = 36°



.

[image: image73.png]367




What is the measure of angle B?  Explain why.

13
In parallelogram ABCD shown below, the bisectors of [image: image74.png]ZABC



 and [image: image75.png]£ DCE



 meet at E, a point on [image: image76.png]AD



.

[image: image77.png]



If [image: image78.png]


, determine and state [image: image79.png]m/ BRC



.

14
Parallelogram ABCD is adjacent to rhombus DEFG, as shown below, and [image: image80.png]7o,



 intersects [image: image81.png]AGD



 at H.

[image: image82.png]



If [image: image83.png]18°



 and [image: image84.png]msAHC = 138°



, determine and state [image: image85.png]ms GFH



.

15
Trapezoid ABCD, where [image: image86.png]AB| CD



, is shown below.  Diagonals [image: image87.png]AC



 and [image: image88.png]DE



 intersect [image: image89.png]


 at E, and [image: image90.png]


.

[image: image91.png]





If [image: image92.png]msDAR = 35°



, [image: image93.png]ms DOR = 25°



, and [image: image94.png]msNEC = 30°



, determine and state [image: image95.png]m/ABD



.

1
ANS:
3

[image: image96.png]



REF:
081508geo

2
ANS:
1

[image: image97.png]180 - (68 - 2)




REF:
081624geo

3
ANS:
2

[image: image98.png]TN




REF:
061921geo

4
ANS:
4

[image: image99.png]



REF:
081708geo

5
ANS:
3

[image: image100.png]



REF:
082215geo

6
ANS:
3

[image: image101.png]



REF:
011603geo

7
ANS:
2

[image: image102.png]



REF:
081907geo

8
ANS:
3

[image: image103.png]



REF:
062306geo

9
ANS:
3

[image: image104.png]60 &Y



  [image: image105.png]30+ 2x = 180
2= 150
5





REF:
082315geo

10
ANS:
1

[image: image106.png]ms OB = 180-51 =129



  [image: image107.png]



REF:
062221geo

11
ANS:


Opposite angles in a parallelogram are congruent, so [image: image108.png]118°



.  The interior angles of a triangle equal 180°.  [image: image109.png]180-(118+22)




.
REF:
061526geo

12
ANS:


[image: image110.png]ZD = 46°



 because the angles of a triangle equal 180°.  [image: image111.png]44°



 because opposite angles of a parallelogram are congruent.
REF:
081925geo

13
ANS:


[image: image112.png]



REF:
081826geo

14
ANS:


[image: image113.png]


20º
REF:
011926geo

15
ANS:


47.5°  [image: image114.png]



REF:
082230geo

